More XY Plotting in Excel

1. Moore’s law.

“In 1965 Gordon Moore, one of the founders of Intel Corporation, predicted that the density of transistors on a chip would double every year and a half.  His prediction has turned out to be very accurate.  In 25 years, the number of transistors on a chip has increased from 2,300 on the 4004 in 1971 to 7.5 million on the Pentium( II processor.”  Information Technology: The Breaking Wave, D. P. Curtin, K. Foley, K. Sen and C. Morin, McGraw-Hill 1998)  This kind of growth is exponential.  

	Moore's Law

	Chip name
	Year
	Number of transistors

	4004
	1971
	2300

	8008
	1972
	3500

	8080
	1974
	4500

	8086
	1978
	29000

	8088
	1979
	29000

	80286
	1982
	134000

	386
	1985
	275000

	486
	1989
	1200000

	Pentium
	1993
	3100000

	Pentium Pro
	1995
	5500000

	Pentium II
	1997
	7500000

	Pentium III
	1999
	9500000

	Pentium IV
	2000
	42000000

	Itanium
	2001
	25000000

	Xeon
	2001
	42000000

	Itanium 2
	2002
	220000000


Data from http://download.intel.com/museum/Moores_Law/Printed_Materials/Microprocessor_Poster_24x36.pdf
Make a plot of the Number of transistor versus year and fit it to an exponential.  Paste it below. 

Is it a good fit?  How do you know?   

If you had used this data to extrapolate how many transistors would be on a chip in 2011, what would you have predicted?

2. Warbler Mating Data.

Using the data below make a plot of Pairing date vs. Repertoire size.  (Make sure you do not plot Repertoire size versus Pairing date.)  Label the axes and title your graph “Warbler Mating Data.”  Fit the data to a straight line. The equation of the line (slope and intercept) as well as some measure of how good the fit is should appear on your graph.  Bring your graph over from Excel and place it in this document.  Add the figure caption below. You should do more than simply place the text after the graph.  (Data from Biology (N.A. Campbell, The Benjamin/Cummings Publishing Company, Inc. 1996))
 Female warblers prefer males with large song repertoires. Male sedge warblers in Europe with large repertoires attract females to pair with them earlier in the breeding season than males with small repertoires.  Since the first females who choose mates pick males with large repertoires, it is likely that females prefer large repertoires.  Males with large repertoires benefit from pairing early because breeding early tends to be more successful than breeding late in the season.  

	Repertoire size
	Pairing date

	14
	45

	20
	47

	23
	43

	24
	34

	24
	37

	25
	30

	30
	27

	33
	24

	34
	30

	38
	27

	42
	24


Fit the data to one other function provided by Excel.  Which do you think fits better? 

